REAR ADD-ON SWAY BAR

Installation Instructions AR EE, 15mm
%% B0 #Q0505

Application ;i ff i %Y

NISSAN KICKS 2016+ (P15)

Components N & il

@ Sway bar BHIEIRIZS 1pcs o E
@ Lower bracket-RH FZ22-F...cooov 1pcs © 8
3 Lower bracket-LH N32ZR-7r ..o 1pcs i

@ Upper bracket £3z22
(5 Bolt ##4 (M10X1.25X30).c s
® Bolt #2#% (M10x1.25x25)....
@™ Nut 218 (M10x1.25-14x9)
Washer ZET] (26X10.5X2) .o

Caution = $HI1H

eInstallation is recommended to be performed by licensed mechanics with necessary tools
to ensure safety. Incorrect installation may cause injury, damage to the product or vehicle.
ZERFRGERORMETIENTHURRZE - REERUEHAS  ERREREMSE -

*Note the routing of wires and cables before installation, or please refer to factory manual.
ZEAFEERL FMRBNZERERUBNERSRELE - AREKASEZEREFMH -

«Tighten bolts and nuts frimly by using handtools, and with specified torque if mentioned.
ZEBRFCAFH IEREHEIZIERES - MARRIRFKBRBERNOE LH -

©9

3. Reinstall the shock absorber. Then repeat the procedure

: g2 BB 1~3 for the other side.
Instructions % 3¢ it W EHEEERRARE  SREEES R -3 RS
1. Disconnect rear shock absorber from axle beam on one side.. AIsZIR -

(Disconnect one side at a time only)
BORERER LR - E F—EBR L ESEE )

4. Install the sway bar to brackets using supplied M10
hardwares.

2. Install the brackets to shock absorber mountings using supplied EEMLOBAE + 45 S 224 2 S 2 -

M10 hardwares on the side with shock absorber removed.

(Please note that 2 additional washers are required for LH side.)

EAMIOEH B FZRARESHMER N LRE L -
BIRLRAAREMNLEMAZES)

¥ llIstration of installed state
ZHEERREE

E-MAIL info@hardrace.com

I ANIRDIR AC
CHASSIS | STEERING ' ALIGNMENT WEBSITE WWW.HARDRACE.COM




